	zájmena opakování 2

	Final Scores

	Rank
	Players
	Total Score (points)
	Correct Answers
	Incorrect Answers

	1
	Laura9
	28403
	20
	0

	2
	Emma Mračková
	28378
	20
	0

	3
	Natalia
	28349
	20
	0

	4
	Vojtík
	28348
	20
	0

	5
	Já Honza
	28323
	20
	0

	6
	Sam Peverell
	28217
	20
	0

	7
	Kacka??
	27029
	20
	0

	8
	Tonda 2
	25907
	19
	1

	9
	Magda
	25432
	19
	1

	10
	Ondřej Loučka 1
	25369
	19
	1

	11
	alexík
	25352
	19
	1

	12
	Ella
	25269
	19
	1

	13
	bebe
	23733
	19
	1

	14
	BAAAAARUSKA
	22225
	18
	2

	15
	Baxová
	21450
	18
	2

	16
	Adina
	20391
	17
	3

	17
	bohacova11
	20254
	17
	3

	18
	Luky
	10502
	11
	9
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